1. xol o kg A 20 -2, - px 427k x— 22 WprolHol A £ 45
POl 3he A5t

@1 @ -1 ® 2 @ -2 ® 3



A x2-2x+3=a+b(x-1)+cx(x—1)°1A a,b,c 2]



3. (x+y)a—(x—y)b—(y—-z)c—4z=00°] x, y, 2] gkoll TAglo] &
AL o, 5 abcE FoHH?

D 4 @ 8 ® 16 @ 32 ® 64



4. A R +ax+ b7 A 2 - x4 1R o] Hol X B8 44
a+ b e Ftolet.

D
=%



g(k+ Dk+2) 4+ (k+1)(k+2) 9 Z& 289

@ %(k+1)(k+3)(k+4) @ %k(k+1)(k+2)
® é(k+ 1) (k+2)(k+3) @ %k(k—s— 1) (k+2)(k+3)
® i(k—k 1)(2k + 1)(3k + 2)



@ a+c

@ a®+b*+c?

@ a-b?

® a4+ b2 —c?



7.

2 -2x-) + 28 AR

ol W, a, b, cE MN=

D -1,0, 1 @)
@ -1, -1, -2 ®



el

G

=

=



2x + 3a
4x +1

Y ERE

7 xol TARO] Lot ghe 7HE w, 12¢ 9 ghe FokA L.



10. f(x) = 3x3 + ax? + bx — 127} x - 1 2= Uro] Hojx|a,

x+1=
Hrgle Wl A7 1401Eh 44 0, bl B ab ] L7

® -12 @ 12 ® -20 @ 20 ® -36



x? - 42 Yis YHZ|E F5H4A ax + b

x=2, x4 22 HEQlS W), Uri 2|7k 242t 5, 3olet
=
=2



12, f(x)2 x-12 s o Ue=)7} 3ojth. &, ojujo] §& x 308
e Yo7k 2019 £(x) S x2 4203 02 Lpe Lhe] 2.5 atolet,

D L
-



13. oA f(x)E x- 322 Ur8lE ™o 5ol O(x), UHA7F10] 1,
E Q(x)E x- 22 WYRolg o] U]zt 20|t} f(x)E x-22
LS o] Y25 Sohi?

@1 @ 2 3 3 @ 4 ® 5



@ b=2 ®c=1

D a=3

® k=-1

@ d=14



15. Ao A xofl tisto] 2x%-5x42 = a(x+1)%+b(x+1)*+c(x+1)+d
FAAES O, @ - b? 4 ¢ - d? O] & oY

@® 56 @ 28 ® -28 @ -46 ® -56



16. S F x% +y? 4 2xy — 2x - 2y 9] Ql57} opd A9

® x+y @ —x-vy @ x+y-2

@ x-y ® 2x+2y



17. nE A sl &
m+ae—r(xoﬂ W;}E:ﬂ 4 X_2007+1 =ao+ai(x+4)+ax(x+4)* +
2007 (x+4) ol AT W, ag+a; +as+- - +aseor & B2?

@ _32007
(=3)2907 -1 @0 @ 32007 41

@ 1
® 32007 13



18. ThaHA] (x4 1)(x+3) (x4 5)(x+7) + a7} O|2Icyat 4 o] g7 g mol
HEE o] g Asteler

D
=%



19. 2-02 =19, {(a+b)"+ (a-b)"}? - {(a+b)" - (a—b)"}* <]
2 (H ne A

@ 2 @ 2(a+b) ® 4
@ 4(a+b)" ® 4(a-b)"



ol T, x+3
(x-3)2%(x+3)o=2

20. xofl et A f(x) & (x-3)
©°2 U 47} Fi=tha gtk o] o, f(x)

o
il
T
N
o)
i
I
g3

U A7
@ (x-3)2 @ 3x>+2x-5 ® %(x—3)2
@ x2+2x-5 @%(x—?))Q



